I need help with this study question.  Professor Kenneth Warner of the University of Michigan has estimated that a 10 percent increase in the price of cigarettes results in a 4 percent decline in the quantity of cigarettes consumed.  For teenagers, he estimated that a 10 percent price increase results in a 14 percent decline in cigarette consumption.  Based on his estimates, what is the price elasticity of demand for cigarettes?  Among teenagers, what is the price elasticity of demand?  Why is the price elasticity different for teenagers than for the public as a whole?  

